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1. T football with my friends from 4 till 7 yesterday afternoon. That’s why I went to bed earlier.
1) were playing 2) have played 3) was played 4) was playing

2. Was John waiting for you when ......... the bus?
1) did you get off 2) were you getting 3) you got off 4) you get off

K S Mike was working in his room, his friends were swimming in the pool.
1) At present 2) While 3) After 4) Before

4. Sometimes it is really hard to make somebody understand the truth. Honestly speaking, I tried to
tell them what was happening but they .......... .

1) weren’t listening 2) don’t listen 3) won’t listen 4) aren’t listening
5. The children ......... the school when one of the classes caught fire.
1) leaving 2) were leaving 3) are leaving 4) are going to leave
6. Now, the firefighters ......... into the fire bravely to save the people trapped in the burning
building.
1) runs 2) ran 3) were running 4) are running
7. What happened last night was really strange. I strongly asked them what ......... at seven last
night.
1) were they doing 2) they were doing 3) do they do 4) they are doing
8. Tom said that he was doing his homework when I and him out.
1) was ringing / asking  2) rang / asking 3) ring / ask 4) rang / asked
9. It’s really disappointing! We ......... a lot of rubbish when we were driving in Chalus Road.
1) see 2) were seeing 3) will see 4) saw
10. m certain that this morning at five o’clock, my sister ......... care of her baby.

1) were taking 2) was taking 3) is going to take 4) took
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